Shopping at superstore (Multiplication and Addition)

The prices of different items at a superstore are as follows:

1kg apples = £1.08 1kg bananas = 76 p

1kg peach = £1.69 1kg grapes = £2.76

1kg pears = £1.52 1kg turnip = £1.06

1kg pulses = £1.90 1kg potatoes = 90p

1kg onions = 50p 1kg oranges = £1.39
Find the price of:

1. 3kg apples + 4kg bananas

2. 2 kg pears + 2 kg grapes =

3. 2 kg pulses + 5 kg potatoes

4. 3 kgonions + 2 kg turnips

5. 4kg bananas + 5kg apples + 3kg oranges

6. 10kg potatoes + 5kg onions + 1kg pulses

7. 3kg peaches + 2kg oranges + 2kg bananas=

8. 4kg peaches + 4kg grapes =

9. 5kg pears + 6kg bananas + 3kg oranges =

10. 5kg pulses + 5kg onions + 5kg potatoes

11. 3kg turnip + 4kg potatoes + 1kg grapes

12. Bkg pears + 7kg peaches -
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